PLUS ONE MATHEMATICS
PROBLEMS

Sample Questions

Question 1:

For an A.P. 3, 8, 13, 18, ... find the 17" and 40" terms.
Solution :

g 3, d= D
n"™ term a, = a+(n-1)d
= 8+ (n-1)5
= Sn- 2
a,; = 5(17)-2 = 83
a, = 5(40)-2 = 198

Question 2:

If the 11th term of an A.P. is zero, then prove that its 31°' term
is double than the 21st term.

Solution :
a;; = a+10d
0 = a+10d
2(ay;) = 2(a+20d)
= 2(a +40d)
= (a+30d) + (a+ 10d)
= az; +0
= 4ag
Question 3:

The sum of n terms of two APs are in the ratio (3n+6) : (5n-13),

Find the ratio of their 11" terms.

Solution :

According to the given condition,

n
5[2A+(n—1)D] | Sn+6

n  5n-13
5[2a+(n—1)d:| o
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2A+(n-1)D  3n+6
2a +(n-1)d 5n-13

T,, A+10D

t,, a+10d
_ 2A +20D
~ 2a+20d
~2A+(21-1)D
- 2a+(21-1)d

Substituting n=21

Ty 3(21)+6 B
4

t,; 5(21)-13

.. The ratio of the 11th terms of the two A.P.sis 3 : 4.

Question 4 :

The sum and the product of three consecutive terms of an A.P.

are 24 and 312 respectively. Find the three terms.
Solution :

Suppose the three consecutive terms of the A.P. are
a-d,a,a+d

(@-d)+a+(a+d = 24
3a = 24
a =328
and
(a-d)jxax(a+d) = 312
(8-d)x8x(8+d) = 312
64 - d> = 39
d = Sor-5
2. The required terms are 3,8, 13

Question 5:

If the third term of a G.P. is 18 and its sixth term is 486, find
the 9th term.
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Solution :

t ar’ 486
t, ar® 18
r’ =27

r=3

S0 9a = 18
a=9
ty =ar® =9(3%)=13122

Question 6:

Three numbers are consecutive term of a G.P. Their sum and

product are % and 1 respectively, find the numbers.

Solution :

Let the three numbers are E, a, ar
g

[i]xaxar= 1
r

a®=1 or a=1

and
E+a+ar=£
r 5
1+1+I‘=ﬂ
3

5r2 -26r+5=0
(5r—1)(r—5):0

r:l,S
5)

.. The numbers are 5, 1, é

FASSAL TUITION - SCIENCETABLET
9018332413



PLUS ONE MATHEMATICS
PROBLEMS

Question 7 :

Find the sum of the sequence 5, 55, 555, ... upto first n terms.

Solution :
Sy
= 5 + 55+ 555 + ... N terms

:2[9 +99 + 999 + ... n terms]

=2[(10 - 1) + (10? - 1) + (10° - 1) + ... n terms]

[(10 + 10% + 10° +...n terms) - (1 + 1 + 1 +... n terms)]

_10(10“—1)

ol YWl V|lul O
I

Question 8:

Find the sum of n terms of the series 1x2+2x3+3x4...
Solution :

a, =n(n+1)

iz 8
-]
+
j—
[\]
-}
+
—
—
_|.

2,
-]
+
o

3
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EXERCISE

7
The 8th term in the expansion of (\@ o8 ) is...

(2742273 ;7242;724/3)

Find the term independent of x in the expansion of
( 1 JIB
X+—| ;x>0
2%
(March 2016)

The nth term of the /G..P. 5, 25, 125 ... is'\\...

n’; 5" (211)5; 520

Find the sum of all natural numbers between 200 and
1000 which are multiples of 10.

Calculate the sum of n-terms of the series whose nth
termis a, =n(n+3)

(March 2016)

Geometric mean of 16 and 4 is ... (20,4,10,8)
Find the sum to terms, 5 + 55 + 555 + ...
Find the sum to terms of the A.P. whose kt term is Sk
+ 1
(Imp 2015)
OR

If the first 3 terms ofan A.P.arex-1,x + 1, 2x + 3 then

X iS....... (-2, 0, 2, 4)

Find the sum to n terms of the sequence
I1x2+2x3+3%x4 ...
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The nth term of a G.P.
aﬁ,g,j,.... is i Find n
2 4 8 1024
(Imp 2015)

If the sum of a certain number of terms of A.P. 25, 22,
19, .... Is 116, then find the last term.
Find the sum to n- terms of the series
Ix2x34+2x3x4+3x4x5 ...
OR

A man starts repaying a loan as a first installment of
Rs.1.000. If he increases the installment by Rs. 150
every month, What amount will he pay in the 30th
installment?
Find the sum to n-terms of the sequence:
Lo VL Rl Ay TLPE; v
(Imp 2015)

If the sum of a certain number of terms of the A.P 25,
22,19, ...1is 116, then find the last term.
Find the sum to n terms of the series
I1x2x3+2x3x4+3%x4x5 ...
(March 2014)

Find the sum of multiples of 7 between 200 and 400.
The sum of first 3 terms of a Geometric progression is

% and their product is 1. Find the terms.

(Imp 2014)
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